Year 12
2 Unit Component B Assessment Task
March 2000

Question 1 (3 marks)
The six students in the Year 12 Greek class attain marks which form an arithmelic

sequence. If the highest score is 97 and the class average is 62, find the other live
scores.,

Question 2 (3 marks)

] 25
Andy wants to find the limiting sum of the following sequence; - -l y
This is his working out:

a
S,= 707

o3

a.  Bryan can see that Andy has made 2 errors in his working out. Rewrile Andy's
solution correcting these errors. :

b, Claudia says that both boys are wrong because the sequence doesn't have a
limiling sum. Explain Claudia's statement.

Question 3 {3 marks)

Give the first 3 terms of any arithmetic series which has Sg=10.

Question 4 (6 marks)

A certain substance doubles its volume every 5 minutas, At $:00 am, a small amount is
placed in a container and at 10:00 am, the container just fills.

a, Atwhat time was the container ;—full?

b. How full was it at 9:30 am?
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Candidates may attempt ail qusstions. -

All necessary working should be shown in every queslion.
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Write your name on every page of your angwers.
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